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ASSIGNMENT- 2 – TRIGONOMETRIC FUNCTIONS 
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2. If tan A = 5/6 and tan B = 1/11 prove that  A + B = π/4  

3. If  TanA = 
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4. If A + B = 45, then prove that   i) (1 + tan A)(1 + tan B) = 2    ii) (cotA – 1)(cotB – 1) = 2 

5. If tan(A + B) = m and tan(A – B) = n, show that : i) tan2A = 
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6. Evaluate :    i) Cos70 Cos10 + Sin70 Sin10 ii) Sin(40 + ) Cos(10 + ) – Cos(40 + ) Sin(10 + ) 

7. In quadrilateral ABCD , prove that  i) Sin(A+B) + Sin(C+D) = 0    

      ii) CosA CosB – CosC CosD = SinA SinB – SinC SinD  
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14.   Prove that cosα + cosβ + cosγ + cos(α + β + γ) = 
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